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» dbx program_name
— program_name®® T OY S LD T IV TELT
- AR TI\VIETOGE, —gA T avE
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— 451l : CC —g —o sample sample.cc
dbx ./sample
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run
- TRISLEETTS

runargs <args>

- EITHOSIHERET S

runargs

- BEOSIHZVITITSH

stop at <line>

~ BELETES<line>IZTTL—IRA U ERTET D
stop in <func>

— FBELE=E#<func>EIL—IRAUMNIERET S
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cont
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rerun
- 707 S LERINLRITI S
next

- O S LFEIIKRETRDITEEITIT S
next <n>
— nextZE<n>M[E#&Y KRG
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step
- TR LBELRETROTERTTS
- ROFTHBEBES, TOBBIZAS

step <n>

— stepZ<n>[EI#ELIR T

dump
_BEAEOBHMOLTOO—NILEH#HERTTD
print <exp>

— <exp>DIEZRTI B
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up
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down
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dbx MDfELVFF (1)

TR OV

— TINYTETIEEIZ, —gATavEFIFTarv/ A
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— dbx ./TPCBenchmark

RITI7AILESIBDFEER

— (dbx) debug

— Debugglng TPCBenchmark

- Debugging: 7R 5L% 1518 F25(18 --- LULVWD&
2RI EIND
o ZOHITIE, BIBULERE S TLVRLY

S8 DERTE
— (dbx) runargs kel ../tpc-c/tpc.config.3000 0 1 3000 1
* runargs 15|30 2518 ---ELVWDEKIITANTS




dbx DFELVA(2)
« ETI77MILESIBDTEER
— (dbx) debug

— Debuggin: TPCBenchmark kel ../tpc-c/tpc.config.3000
0130001

« BIBMNHRESNTOLIEL LMD
o JL—URAVDEERTE
— (dbx) stop in main
— (2) stop in main
e manfEICA-T=-ECATITOYSLNELETBESIHRTE
» JOUSLDRTT

— (dbx) run
— stopped in main at line 33 in file “TPCBenchmark.cc”
— 33 If(argc 1= 7){

« T7AYVSLEZEFTL, RYNDITL—URATHDmainBa%
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dbx MDELVA(3)
« A—HILZEH DR
— (dbx) dump
— argv = Oxffff7/ff538
—1b=0
—mpl=0
— set_timer_request 1 arg=2147478097
— open_flag=0
— new_order tp=-1
— part_name =""
— payment tp=0
— heap _reg arg = STRUCT
— result = (nil)
— host = (nil)
— arg = STRUCT
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—argc =17/

— stock _level tp=0

— order_status tp=0

— delivery tp=0

— CInt = (nil)

— result_info = 0x1000551cc
« MaANBIBMITHEHON TS EH B LENK RTINS

EELEEHDOERT

— (dbx) print argv[1]

— argv[ 1] = OxfTff7 {859 “kei”
o argv[1]DEZEFR =
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2



dbx DLV (5)

- JAYSLDORK

— (dbx) list

— 33 if(argc = 7){

— 34  fprintf(stderr, "Usage: %s host_name
configure_name database open period
transaction_number mpl¥n", argv[0]);

— 35  exit(0);

- 36 }

— 37 char* host = argv[1];

— 38 /I Create RPC Client

— 39 CLIENT™* clnt;

— 40 cInt =clInt_create(host, SERVERPROG,
SERVERVERS, "tcp™);

— 41 if (clnt == (CLIENT *) NULL) {

— 42  cInt_pcreateerror(host);
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« RDITZEET
— (dbx) next
— stopped 1n main at line 37 1n file “TPCBenchmark.cc”
— 37 char* host = argv[1]
« TJOJSLEUTENILT, F1ET S
o hostITIEMBIASND LR T D
— (dbx) print host
— host = (nil)
— (dbx) next

— stopped in main at line 40 1n file “TPCBenchmark.cc”

— 40 cint = cInt_create(host, SERVERPROG,
SERVERVERS, "tcp™);

— (dbx) print host

— host = Ox {7 {859 “ker”
e hostD g HX(nil) HY 5 OXFFEFFEFF7FF S50 (- HHT L VA



dbx DELNA(7)
« HELFATZIL—URAUMIERET S
— (dbx) stop at 53
— (3) stop at “TPCBenchmark.cc:53
« TPCBenchmark.ccD53fTE M T L—IRA U MMIZTESND
« JL—URAUFETETTS
— (dbx) cont

— stopped 1n main at line 53 in file “TPCBenchmark.cc”
— 53 LoadEnv(argv[2]);
« 531TEZTL—URAUMIEEELTLV=DT, 531TE TELE
o TL—URA+DHERR
— (dbx) status
— (2) stop In main
— *(3) stop at “TPCBenchmark.cc:53
« BABREINTLSIL—IURAUINERREND
« *NDNTUVSIEFAIREFEILEL TSGR
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o JL—ORALLDEIFF

— (dbx) clear “TPCBenchmark.cc”:53

— cleared (3) stop at “TPCBenchmark.cc”:53

— (dbx) status

— (2) stop In main

o TL—ORAVEDEIBRESNI-CENTERETED

- BBDHBIZAD

— (dbx) step

— stopped in LoadEnv at line 112 in file

“TPCBenchLib.cc”

— 112 SetParams(database config_name);
« BA#t(LoadEnv)DHIZAY, F1k
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— (dbx) step
— stopped in SetParams at line 62 1in file “SetParams.cc”
— 62 tpcdbname = new char[40];
o BE(SetParams)DHIZAY, =1k
« TOYSLDEIELTWSIGEMERTR
— (dbx) where
— current thread: t@1

— =>[1] SetParams(configFileName = Oxffffffff/ffff85d
"..[tpc-c/tpc.config.3000™), line 62 in "SetParams.cc"

— [2] LoadEnv(database config_name =
OxFffff7fif85d "../tpc-c/tpc.config.3000"), line 112 in
"TPCBenchLib.cc"

— [3] main(argc = 7, argv = Oxfffffff7ffff538), line 53 in
"TPCBenchmark.cc*

« BEIRRAGGIFIAR), line TES in “I7MILAERFRSND
e JLENDOLNTAEFRMIAIBEEEIELTULNAERT
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- IBTE DEIEN(SetParams)M k(T3
— (dbx) stop at “TPCBenchLib.cc”:113

— (4) stop at “TPCBenchLib.cc”:113
« SetParamsZMEURHLI=-T OIS LDRDITHEIL—IHRA

e

MIEXTE
— (dbx) cont

— stopped in LoadEnv at line 113 in file
“TPCBenchLib.cc”

— 113 }
« SetParamsMEITEN, TOJ T LMEL
« BHDRATZERND
— (dbx) whatis database config_name

— char *database _config_name;
« database_config_nameldcharB! MRA 2 ThHh S
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« AU LEREBEETEITID
— (dbx) cont
— MQTH =701 (701, 649, 74, 65, 69)
— Rollback =0

— execution completed, exit code i1s 0
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